0002231548677999

oo—O@ ERAE 62—

2016 4¢ £ (1) 5311 &2

3| C:xt — 22y + 2 = 0IZEL T, AFORMWIZEZ £,

(1) C LoHT, xHEHEKEREMY, yvEENERY 35 METNTNRD L.
(2) CTHENAZKFOHIRKE KD &.

(1) Y2-2x4+x*=0
e 2242 -4x%
2
s Y= xIlI"\“‘Zz
Y= xEX-02 (~15x51)
X=10c%. 4=1Thans, XBEVER T8 (1. 1)

Y= XtA{ -2 (-13x351), Yo =x-x41-x2 (-15x51) £H<L,

/ "I
Y+ = I+.J,-xz+x-ﬁ (=] $x<1)
-2x% -
= |+ wlﬁ—_xz' (-1<x<1)

L Yi=0 & 20 = {2 (-1<x<d)
& 4xt-42%+1=1-22 12 2X*-1>0 To -[<x<

& P(r-3)=0 7o (-1<x<~F Loxct)

_+ 13
& x—-..".'-'z—-
- |- ]-E[-[&]- T4 Ko tERR Y ;
2 2 . i 5 o
il =1 o [+]0|=L" YRIBEpwEL 3411, ("‘zET)
G| 2|30
gefl-1 |\ |- 212N

@ Y=xrx{i-2 £ Y=x-x{I-2 077713 Y=x |LFELTITHRTES TS,
s8R &), BNTTT LB
=(°y-- 'y Y- dx
S=[ 4-4rdx 'rfoﬁr Y
= jo -2x {1-x* dx +fo' 2xq1-x% dx
-

34}’11:\“-12 dx
0 4 ;
x| o0~
t=1-x* et FiRF§ATEL, dt=-2xdr, 1750
341 _
S=2f{tdr=2[$17], = £

4




